
  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE, 2018. 

Third Year 

Accounting and Finance 

BUSINESS FINANCE 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. Explain clearly the different objectives of Business 

finance. 

 ÁoP {v°ß £À÷ÁÖ ÷|õUP[PøÍz öuÎÁõP 

ÂÍUSP. 

2. What is cost of capital? Explain the significance of 

cost of capital. 

 •uÀ AhUP® GßÓõÀ GßÚ? Auß •UQ¯zxÁ® 

¯õx? 

 UG–490 BCS–31/BAF–31 
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3. State the importance of capital structure. 

 •uÀ Pmhø©¨¤ß •UQ¯zxÁzøu ÂÍUSP. 

4. Discuss the factors which affect the size of 
receivable. 

 ö£ÖuØS›¯ PnUSPÎß AÍÂøÚ¨ £õvUS® 

PõμoPøÍ ÂÁõvUPÄ®. 

5. Explain the different forms of dividend. 

 £[S Buõ¯zvß £À÷ÁÖ ÁiÁ[PøÍ ÂÍUSP. 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Analyse the different functions of finance. 

 {v°ß £À÷ÁÖ £oPøÍ¨ £S¨£õ´P. 

7. Explain the different sources of security financing. 
State the merits of each security. 

 ¤øn¯ {v°ku¼ß £À÷ÁÖ Buõμ[PøÍ 

ÂÍUSP. JÆöÁõ¸ ¤øn¯zvß |ßø©PøÍ 

ÂÍUSP. 

8. Discuss the factors which determine the capital 
structure. 

 •uÀ Pmhø©¨¤øÚ {ºn°US® PõμoPøÍ 

ÂÍUSP. 
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9. Explain the different components of working 
capital. 

 |øh•øÓ •u¼ß £À÷ÁÖ TÖPøÍ ÂÍUSP. 

10. Briefly explain the MM approach to the concept of 
dividend. 

 £[S Buõ¯P¸zvØPõÚ G®G® AqS•øÓø¯ 

_¸UP©õP ÂÍUSP. 

––––––––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION —  
JULY 2018. 

Third Year 

Corporate Secretaryship 

INCOME TAX 

Time : 3 hours Maximum marks : 75 

SECTION A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. Who is called a representative assesses 

 ¤μv{vzxÁ Á›Âv¨¤ØS E›¯Áº ¯õº? 

2. Compute the income from house properity 

 Municipal value Rs. 70,000 per annum 

 Fair rental value Rs. 80,000 per annum 

 Rent received Rs. 8,000 per month 

 Municipal tax Rs. 9,600 

 Interest on loan taken for house Rs. 5,920. 

 UG–491 BCS–32 
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 Ãmk Á¸©õÚzøu PnUQkP. 

 |Pμõm] ©v¨¦ ¹. 70,000 Kº BsiØS 

 \©©õÚ {Pμ ©v¨¦ ¹. 80,000 Kº BsiØS 

 ÁõhøP ö£ØÓx ¹. 8,000 Kº ©õuzvØS 

 |Pμõm] Á› ¹. 9,600 

 Ãmk Phß «uõÚ Ámi ¹. 5,920. 

3. What are the provisions relating to bad debts? 

 ÁõμõUPhß «uõÚ ÂvPÒ ¯õøÁ? 

4. State the different kinds of capital gain. 

 £À÷ÁÖ ÁøP¯õÚ ‰»uÚ Buõ¯[PøÍ SÔ¨¤kP. 

5. How do you find out gross total income. 

 ö©õzu Á¸©õÚzøu GÆÁõÖ PnUQkÁõ´? 

SECTION B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. Discuss ten incomes which are exempted from 
Income Tax Act, 1961. 

 Á¸©õÚ Á›a\mh® 1961–ß £i H÷uÝ® £zx Á› 

Â»US¨ ö£ØÓ Á¸©õÚ[PøÍ ÂÁ›. 
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7. Explain the procedure for taxable income of 
individuals. 

 uÛ |£›ß Á›Âv¨¤ØS›¯ Á¸©õÚzøu PnUQk® 

•øÓø¯ ÂÍUSP. 

8. Find out salary income for 2016-17. 
 Salary Rs. 5,000 p.m. 
 DA Rs. 2,000 p.m. 
 Entertainment allowance Rs. 300 p.m. 
 Employers contribution to RPF Rs. 7,900 p.a. 
 Interest credited to RPF @ 9.5% Rs. 1,000. 
 City compensatory allowance Rs. 150 p.m. 
 Medical allowance Rs. 100 p.m. 
 HRA Rs. 600 p.m. Rent paid Rs. 750 p.m. 
 Find out salary income. 
 2016—17 BsiØPõÚ \®£Í Á¸©õÚzøu 

PnUQkP. 

 \®£Í® ¹. 5,000 p.m. 

 £iPÒ  ¹. 2,000 p.m. 

 ö£õÊx÷£õUS £iPÒ ¹. 300 p.m. 

 RPFØS £o AÎ¨£Á›ß £[PÎ¨¦ ¹. 7,900 p.a. 

 RPFØS 9.5% Ámi Á¸Áõ´ ¹.1,000. 

 |Pμ Dmk £i ¹. Rs. 100 p.m. 

 Ãmk ÁõhøP¨£i 600 p.m. ÁõhøP ö\¾zv¯x ¹. 

750 p.m. 

 \®£Í Á¸©õÚzøu PnUQkP. 
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9. Mr. ‘A’ 3 house property details are as follows 
 1 Rs.  2 Rs.         3 Rs. 

Rent received 60,000  40,000 –

Municipal valuation 45,000  28,000 15,000

Standard rent 40,000  30,000 –

Municipal tax 6,000  3,000 1,000

Interest on loan 17,000  19,000 6,000

Repairs 4,000  2,000 500

Purpose of house let out  let out self occupied

  Compute total income. 

 ‘A’  Gß£Á›ß 3 ÃkPÎß Á¸©õÚzøu PnUQkP. 

 1 Rs.  2 Rs. 3 Rs. 

ÁõhøP ö£ØÓx 60,000  40,000 –

|Pμõm] ©v¨¦ 45,000  28, 000 15,000

vmh ÁõhøP 40,000  30,000 –

|Pμõm] Á› 6,000  3,000 1,000

Phß «uõÚ Ámi 17,000  19,000 6,000

£Êx£õº¨¦ 4,000  2,000 500

Ãmk E£÷¯õP® ÁõhøP  ÁõhøP Si°Ö¨¦

 ö©õzu Á¸©õÚzøu PnUQkP. 
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10. Compute the business income from the following. 
 Rs.  Rs. 

To salary 12,000 By gross 
profit 

1,00,000

To general 
expenses 

10,000 By 
commission 

10,000

To typewriter 
purchase 

10,000 By rent 
received 

50,000

To advertisement 
in cash 

25,000  

To interest on 
capital 

3,000  

To net profit 1,00,000  

 1,60,000  1,60,000

 RÌÁ¸® ÂÁμ[PøÍU öPõsk Â¯õ£õμ 

Á¸©õÚzøu PnUQkP.  

 ¹.  ¹. 
\®£Í® 12,000 ö©õzu 

»õ£® 

1,00,000

ö£õxa ö\»ÄPÒ 10,000 PÈÄ 10,000
umha_ öPõÒ•uÀ 10,000 ÁõhøP  

ÂÍ®£μ® öμõUP©õP 

ö\¾zv¯x 

25,000 ö£ØÓx 50,000

•uÀ «uõÚ Ámi 3,000  
{Pμ »õ£® 1,00,000  

 1,60,000  1,60,000
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11. From the following compute capital gain for the 
AY 2017-18’ 

 Rs. 

House purchase in 1984-85 (CII : 125) 5,00,000

Sold in 2016 (CII –1125) 90,00,000

Purchase of new house 3,50,000

Deposit in capital gain 4,00,000

 cost of living index for 84-85=125, 2016-17 : 1125.  
 ¹. 

Ãk öPõÒ•uÀ 1984-85 (CII : 125) 5,00,000
ÂØ£øÚ (CII –1125) 90,00,000
¦v¯ Ãk Áõ[Q¯x 3,50,000
‰»uÚ Buõ¯ øÁ¨¦ 4,00,000

 CLI :  84-85=125, 2016-17 : 1125. Á›Âv¨£õsk 

2017—18ß ‰»uÚ  Buõ¯zøu PnUQkP. 

12. Compute income from other sources : AY:2017-18 
 Rs. 

Interim dividend 40,000

Dividend from a company 50,000

Director’s fees 10,000

Rent from land letout 12,000

Income from sub-letting 6,000

Interest on fixed deposit 6,000
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  2017–18 BsiØPõÚ Cuμ Á¸©õÚzøu 

PnUQkP.  

 ¹. 

CøhUPõ» £[Põu¯® 40,000

P®ö£Û £[Põu¯® 50,000

C¯US|º Pmhn® 10,000

{»® «uõÚ ÁõhøP 12,000

EÒÁõhøP «uõÚ Á¸©õÚ® 6,000

{μ¢uμ øÁ¨¦ «uõÚ Ámi 6,000

 

——––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION –  
JUNE 2018. 

Third Year 

Corporate Secretaryship 

PRINCIPLES OF HUMAN RESOURCE 
MANAGEMENT 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3  5 = 15 marks)  

Answer any THREE questions. 

1. What is Human Resource Management? State its 
importance. 

 ©ÛuÁÍ ÷©»õsø© GßÓõÀ GßÚ? Cuß 

•UQ¯zxÁzøu ÂÁ›. 

2. What are the sources of Recruitment? 

 BÒ ÷\º¨¤ØPõÚ Buõμ[PÒ ¯õøÁ? 

3. State the importance of motivation. 

 FUPÂzu¼ß •UQ¯zxÁzøu ÂÁ›. 

 UG–494 BCS–35 
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4. Explain the various social security measures. 

 £À÷ÁÖ Âu©õÚ \‰P £õxPõ¨¦ •øÓø©PøÍ¨ 

£ØÔ ÂÍUSP. 

5. What are the process in Human Resources 
Planning? 

 ©ÛuÁÍ vmhªku¼ß £i{ø»PÒ ¯õøÁ? 

SECTION B — (4  15 = 60 marks)  

Answer any FOUR questions. 

6. Describe the functions of Human Resource 
Management. 

 ©ÛuÁÍ ÷©»õsø©°ß £oPÒ SÔzx ÂÍUSP. 

7. Briefly explain the various methods of training. 

 £°Ø]°ß £À÷ÁÖ ÁøPPÒ £ØÔ _¸UP©õP ÂÁ›. 

8. Explain the different methods of motivation and 
theories of motivation. 

 EUSÂzu¼ß £À÷ÁÖ •øÓPøÍ²®, 

FUSÂzu¼ß ÷Põm£õkPøÍ²® £ØÔ ÂÍUQ 

GÊxP. 

9. Explain the factors influencing wage policies. 

 T¼ {ºn¯U öPõÒøP°ß «x uõUP® ö\´²® 

£À÷ÁÖ PõμoPøÍ¨ £ØÔ ÂÁ›. 
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10. Explain the process of grievance and redressal 
activities. 

 SøÓ ÷Pm¦ ö\¯À•øÓPøÍ²® ©ØÖ® AÁØøÓ 

{Áºzv ö\´ÁuØPõÚ ÁÈ•øÓPøÍ²® £ØÔ 

ÂÍUSP. 

11. What are the functions of trade union? 

 öuõÈØ\[Pzvß £oPÒ ¯õøÁ? 

12. Explain the importance of collective bargaining. 

 Tmk ÷£μ® ö\´u¼ß •UQ¯zxÁzøu ÂÁ›. 

––––––––––––– 



 

  

 

 

B.Com. DEGREE EXAMINATION —  
JUNE, 2018. 

Third Year 

Corporate Secretaryship 

ACCOUNTING FOR MANAGERIAL DECISION  

Time : 3 hours Maximum marks : 75 

PART A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. Distinguish between cost accounting and 

management accounting.  

 AhUPÂø» PnUQ¯¾US® ÷©»õsø© 

PnUQ¯¾US® EÒÍ ÷ÁÖ£õkPøÍ TÖP.  

2. Explain the meaning of the term financial 

statements. State their objectives.  

 {v{ø» AÔUøP°ß ö£õ¸øÍ²®, Auß 

÷|õUP[PøÍ²® TÖP.  

 UG–517 BCS–34 
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3. Form the following details find out : 

 (a) Current assets 

 (b) Current liabilities 

 (c) Liquid assets 

 (d) Stock.  

  Current ratio 2.5 

  Liquid ratio 1.5 

  Working capital Rs. 90,000. 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x Psk¤iUP : 

 (A) |h¨¦a ö\õzxUPÒ 

 (B) |h¨¦¨ ö£õÖ¨¦PÒ  

 (C) }º©a ö\õzxUPÒ 

 (D) \μUQ¸¨¦ 

  |h¨¦ ÂQu® : 2.1 

  }º©ÂQu® : 1.5 

  |øh•øÓ ‰»uÚ® ¹. 90,000. 
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4. From the following balance sheets of Sri. Krishna 
Ltd. Prepare a schedule of changes in working 
capital.  
Liabilities 2008  2009  Assets 2008 2009 

Share capital 4,00,000  5,75,000  Plant 75,000 1,00,000

Creditors 1,06,000  70,000  Stock 1,21,000 1,36,000

Profit & Loss a/c 14,000    Debtors 1,81,000 1,70,000

     Cash 1,43,000 2,39,000

 5,20,000  6,45,000   5,20,000 6,45,000

 ÿ Q¸ènõ ¼m C¸¨¦ {ø»U SÔ¨¤¼¸¢x 

|øh•øÓ •uÀ ©õØÓzvØPõÚ AmhÁønø¯ 

u¯õº ö\´P.  

ö£õÖ¨¦PÒ 2008  2009  ö\õzxUPÒ 2008 2009 

£[S •uÀ 4,00,000  5,75,000  C¯¢vμ® 75,000 1,00,000

PhÜ¢÷uõº 1,06,000  70,000  \μUS 1,21,000 1,36,000

»õ£ |mh P/S 14,000    PhÚõÎPÒ 1,81,000 1,70,000

     öμõUP® 1,43,000 2,39,000

 5,20,000  6,45,000   5,20,000 6,45,000

5. From the following details, calculate pay back 
period.  

Cost of the project Rs. 32,000 

 Estimated scrap Rs. 3,200 

 Estimated savings : 1 year Rs. 4,000, II Year  
Rs. 6,000, III Year Rs. 10,000, IVth year  
Rs. 10,000, Vth Year Rs. 8,000. 
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 ¤ßÁ¸® uPÁÀPÎhª¸¢x •u½miØPõÚ v¸®£ 

ö£Ö® Põ» AÍÂøÚ PnUQkP.  

 vmhzvß AhUP® ¹. 32,000 

 ©v¨¥k ö\´¯¨£mh ©Ö©v¨¦ ¹. 3,200 

 ÷\ª¨¦ ©v¨¥k : •u»õ® Bsk ¹. 4,000, 

Cμshõ® Bsk ¹. 6,000, ‰ßÓõ® Bsk  

¹. 10,000, |õßPõ® Bsk ¹. 10,000, I¢uõ® Bsk 

¹. 8,000. 

PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Discuss the functions of Management Accounting.  

 ÷©»õsø© PnUQ¯¼ß £oPøÍ ÂÍUSP. 

7. Discuss various techniques of financial statements 

analysis with its merits and demerits.  

 {v {ø» AÔUøP ~qUP[PÎß |ßø©PøÍ²® 

SøÓ£õkPøÍ²® TÖP.  
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8. From the following balance sheets of X Ltd, you 
are required to prepare a comparative balance 
sheet.  

Balance Sheet as on 31st December 2010 
Liabilities 2009  2010  Assets 2009 2010

Equity capital 400  400  Land and Buildings 400 370

6% pref. capital 300  300   Plant and machinery 400 410

Reserves 200  245  Stock 200 300

8% Debentures 100  150  Debtors 200 300

Bills payable 50  75  Cash 100 140

Sundry creditors 250  350   

 1,300  1,520   1,300 1,520

 X ¼ªöhmiß C¸¨¦ {ø» SÔ¨¤¼¸¢x J¨¥mk 

C¸¨¦ {ø» SÔ¨ø£ u¯õº ö\´P. i\®£º 31 2010&® 

BsiØPõÚ C¸¨¦ {ø» SÔ¨¦. 

ö£õÖ¨¦PÒ 2009  2010  ö\õzxUPÒ 2009 2010

\© E›ø© £[S •uÀ 400  400  {»® ©ØÖ®  

6% •ßÝ›ø© •uÀ 300  300    Pmih® 400 370

Põ¨¦PÒ 200  245  ö£õÔ C¯¢vμ® 400 410

8% PhÜmk £zvμ[PÒ 100  150  \μUQ¸¨¦ 200 300

ö\¾zxÁuØP›¯      PhÚõÎPÒ 200 300

  ©õØÖa ^mk 50  75  öμõUP® 100 140

PhÜ¢÷uõºPÒ 250  350   

 1,300  1,520   1,300 1,520
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9. From the following information, prepare a balance 
sheet. Give the working also.  

(a) Working capital - Rs. 75,000 

 (b) Reserves and surplus - Rs. 1,00,000 

 (c) Bank overdraft - Rs. 60,000 

(d) Current ratio - 1.75 

 (e) Liquid ratio - 1.15 

 (f) Fixed assets to proprietors funds - 0.75 

 (g) Long-term liabilities - Nil.  

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x C¸¨¦ {ø» SÔ¨ø£ 

u¯õº ö\´P.  

 (A) |øh•øÓ •uÀ & ¹. 75,000 

 (B) Põ¨¦ ©ØÖ® E£› & ¹. 1,00,000 

 (C) Á[Q ÷©ÀÁøμ£ØÖ & ¹. 60,000 

 (D) |h¨¦ ÂQu® & 1.75 

 (E) }º© ÂQu® & 1.15 

 (F) {ø»¯õÚ ö\õzxUPÒ E›ø©¯õÍºPÐUS  

{v & 0.75 

 (G) }sh Põ» ö£õÖ¨¦PÒ&CÀø» 
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10. From the following two balance sheets you are 
required to prepare a statement of sources and 
application of funds.  

Balance sheet - 2005 
Liabilities 2004  2005  Assets 2004 2005 

Share capital 40,000  45,000  Cash 30,000 47,000

Trade creditors 10,000  23,000  Debtors 1,20,000 1,15,000

Profit and loss  2,30,000  2,50,000  Stock in trade 80,000 90,000

     Land 50,000 66,000

 2,80,000  3,18,000   2,80,000 3,18,000

 ¤ßÁ¸® Cμsk C¸¨¦ {ø» SÔ¨¤¼¸¢x 

{v{ø» Buõμ[PÒ ©ØÖ® {v 

Âsn¨£[PÐUPõÚ AÔUøPø¯ u¯õº ö\´P. 

 C¸¨¦ {ø» SÔ¨¦ & 2005 

ö£õÖ¨¦PÒ 2004  2005  ö\õzxUPÒ 2004 2005 

£[S •uÀ 40,000  45,000  öμõUP® 30,000 47,000

Â¯õ£õμ      PhÚõÎPÒ 1,20,000 1,15,000

  PhÜ¢÷uõº 10,000  23,000  Â¯õ£õμzvÀ 

»õ£|mh P/S 2,30,000  2,50,000    \μUQ¸¨¦ 80,000 90,000

     {»® 50,000 66,000

 2,80,000  3,18,000   2,80,000 3,18,000
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11. Draw up a flexible budget for production at 75% 
and 100% capacity on the basis of the following 
data for a 50% activity. 

 Per Unit 
Rs. 

Materials 100 

Labour 50 

Variable expenses (direct) 10 

Administrative expenses (50% fixed) 40,000 

Selling and distribution expenses (60% fixed) 50,000 

Present production (50% activity)  1000 units

 EØ£zv vÓß 75% ©ØÖ® 100% Ai¨£øh°À 

¤ßÁ¸® uPÁø»U öPõsk 50% ö\¯À£õmk 

ÃuzvÀ ö|QÌa] ÁμÄ ö\»Ä vmhzøu u¯õº ö\´P.  

 Kº A»QØS ¹.

‰»¨ö£õ¸mPÒ 100 

öuõÈ»õÍº 50 

©õÖ£k® ö\»ÄPÒ (÷|μi) 10 

{ºÁõP ö\»ÄPÒ (50% {ø»¯õÚx) 40,000 

ÂØ£øÚ ©ØÖ® £QºÄ ö\»ÄPÒ (60% {ø»¯õÚx) 50,000 

uØ÷£õøu¯ EØ£zv (50% ö\¯À£õk) 1000 A»SPÒ
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12. Two projects M and N which are mutually 
exclusive are being under consideration. Both of 
them required an investment of Rs. 1,00,000 each. 
The net cash inflows are estimated as under. 

Year M 
Rs. 

N 
Rs. 

1 10,000 30,000

2 40,000 50,000

3 30,000 80,000

4 60,000 40,000

5 90,000 60,000

 The company’s targeted rate of return on 
investments is 12%. You are required to assess the 
projects on the basis of their present values, using 
NPV method.  

 Present values of Re. 1 at 12% interest for five. 
years are given below. 

 1st Year - 0.893 

 2nd Year -  0,797 

 3rd Year -  0.712 

 4th  Year - 0.636 

 5th  Year - 0.567  
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 M ©ØÖ® N C¸÷ÁÖ \©÷|õUSøh¯ vmh[PÒ, 

CøÁ CμsiØS® u»õ ¹. 1,00,000 •u½k 

÷©ØöPõÒÍ¨£kQÓx. {Pμ öμõUP Kmh® ©v¨¥k 

R÷Ç öPõkUP¨£mkÒÍx.  

Bsk M 
¹. 

N 
¹. 

1 10,000 30,000

2 40,000 50,000

3 30,000 80,000

4 60,000 40,000

5 90,000 60,000

 A¢u {Ö©® 12% ‰u½miß «uõÚ v¸¨£ Ãu® 

C»US {ºn¯® ö\´xÒÍx. |h¨¦ ©v¨ø£ 

Ai¨£øh¯õPU öPõsk {Pμ ©v¨¦ •øÓø¯ 

PnUQkP.  

 •u»õ® Bsk & 0.893 

 Cμshõ® Bsk & 0.797 

 ‰ßÓõ® Bsk & 0.712 

 |õßPõ® Bsk & 0.636 

 I¢uõ® Bsk & 0.567 

——––––––––– 



 

  

 

 

 
B.Com. DEGREE EXAMINATION –   

JUNE, 2018. 

Third Year 

Computer Applications 

COST ACCOUNTING 

Time : 3 hours Maximum marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. What are the classifications of cost? 
 AhUPÂø»°ß ÁøPPÒ ¯õøÁ? 

2. State the causes of labour Turnover. 
 öuõÈ»õÍº _ÇØ] ÂQuzvß Põμn[PøÍU TÖP. 

3. Find out the economic order quantity (EOQ) from 
the following particulars. 

 Annual usage 6,000 units 
 Cost of material per unit Rs. 20 
 Cost of placing and Recovering one order Rs. 60 
 Annual carrying cost of one unit: 10% of inventory 

value. 

 UG–524 BBCA–33/ 
  BCS–33 
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 RÌöPõkUP¨£mkÒÍ uPÁÀPÎÀ C¸¢x, ]UPÚ 

öPõÒ•uÀ AÍøÁU Psk¤i. 

 Bsk £¯ß£õk 6000 A»SPÒ  

 ‰»¨ö£õ¸Ò AhUPÂø» ¹. 20 J¸ A»SUS  

 J¸ öPõÒ•uÀ BønUS BS® ö\»Ä ¹. 60 

 J¸ A»SUPõÚ Bsk _ø© T¼ – 10% 

‰»¨ö£õ¸Ò ©v¨¤À. 

4. Calculate the total earnings from the following 
data under Halsey Plan and under Halsey – Weir 
plan. 

 Standard time : 10 hours, Time taken : 8 hours. 
Time Rate : Rs. 250 per hour. 

 R÷Ç öPõkUP¨£mkÒÍ uPÁÀPÎÀ C¸¢x 

£o¯õÍ›ß T¼ø¯ íõÀ÷é ©ØÖ® íõÀ÷é–

Â¯º vmhzvß ‰»® PõsP. 

 vmh÷|μ® – 10 ©o÷|μ®; GkzxUöPõsh ÷|μ® –  

8 ©o÷|μ®. ÷|μÃu® – ¹. 250 J¸ ©oUS. 

5. A product passes through two processes. The 
following details relate to process ‘‘A”. You are 
required to ascertain the process cost to be 
transferred to Process – ‘‘B”. 

 Rs. 
 Direct materials (100 units)  12,000 
 Direct wages    8,000 
 Direct expenses    5,000 
 Overheads     11,000 

 Input 1,000 units: output 1,000 units as there was 
no loss of units. 
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 J¸ EØ£zv Cμsk £i{ø»PøÍ Ph¢x ö\ÀQÓx. 

RÌPõq® uPÁÀPÒ £i{ø» ‘A’ Ähß 

öuõhº¦øh¯x. £i{ø» ‘B’ US ©õØÓ¨£mh £i{ø» 

AhUPÂø» PnUQkP. 

 ¹. 

 ÷|μi ö£õ¸mPÒ (100 A»SPÒ) 12,000 

 ÷|μi Fv¯®    8,000 

 ÷|μi ö\»ÄPÒ    5,000 

 ÷©Øö\»ÄPÒ    11,000 

 ‰»¨ö£õ¸Ò – 1000 A»SPÒ, Akzu £i{ø»US 

ö\À¾® ‰»¨ö£õ¸Ò – 1000 A»SPÒ ÷\uõμ® 

CÀø». 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the different methods of classifying 
overheads. 

 ÷©Øö\»ÄPøÍ ÁøP¨£kzx® •øÓPøÍU TÖP. 

7. Distinction between process costing and job 
costing. 

 £i{ø» PnUQØS® £oPnUQØS® Cøh÷¯ EÒÍ 

÷ÁÖ£õkPøÍ ÂÁ›. 
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8. From the particulars given below write up the 
stores ledger card  

 2016  
January  
1  Opening stock 1,000 units at Rs. 26 each 

 5   Purchased 500 units at Rs. 24.50 each 

 7   Issued  750 units 

 10   Purchased 1,500 units at Rs. 24 each 

 12  Issued  1,100 units 

 15   Purchased 1,000 units at Rs. 25 each 

 17   Issued  500 units 

 18   Issued  300 units 

 25   Purchased 1,500 units at Rs. 26 each 

 29   Issued  1,500 units. 

 Adopt the FIFO method of issue and ascertain the 
value of the closing stock. 

 FIFO •øÓ°À \μUS ÷£÷μmøhz u¯õ›zx, CÖv 

\μUQß ©v¨¤øÚ PõsP. 

 2016  
áÚÁ› 
1  Bμ®£ \μUQ¸¨¦ 1,000 A»SPÒ ¹. 26 Ãu® 

 5   öPõÒ•uÀ  500 A»SPÒ ¹. 24.50 Ãu® 

 7   AÝ¨¤¯x 750 A»SPÒ 
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 10   öPõÒ•uÀ  1,500 A»SPÒ ¹. 24 Ãu® 

 12  AÝ¨¤¯x 1,100 A»SPÒ 

 15   öPõÒ•uÀ  1,000 A»SPÒ ¹. 25 Ãu® 

 17   AÝ¨¤¯x 500 A»SPÒ 

 18   AÝ¨¤¯x 300 A»SPÒ 

 25   öPõÒ•uÀ  1,500 A»SPÒ ¹. 26 Ãu® 

 29   AÝ¨¤¯x 1,500 A»SPÒ. 

9. From the following particulars, calculate earnings 
of a worker under. 

 (a) Time rate system 

 (b) Piece wage rate 

 (c) Halsey plan and 

 (d) Rowan plan 

  Wage rate – Rs. 2 per hour 

  Production per hour – 4 units 

  Dearness allowance – Re. 1 per hour 

  Standard time fixed – 80 hours 

  Actual time taken – 50 hours 

  Production – 250 units. 
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 RÌUPõq® ÂÁμ[PÎÀ C¸¢x, öuõÈ»õÍ›ß 

Á¸©õÚzøuU PnUQkP. 

 (A) Põ»zvß Ai¨£øh°À 

 (B) --EØ£zv GsoUøP Ai¨£øh°À 

 (C) íõÀ÷é vmh® 

 (D) ÷μõÁß vmh® 

   T¼ ÂQu® – ¹. 2 ©o ÷|μzvØS 

  J¸ ©o÷|μ EØ£zv – 4 A»SPÒ 

  £g\¨£i – ¹. 1 J¸ ©o÷|μzvØS  

   vmh÷|μ® – 80 ©o÷|μ® 

   GkzxUöPõsh ÷|μ® – 50 ©o÷|μ® 

   EØ£zv – 250 A»SPÒ. 

10. Kumar Ltd., has three production department ‘A’, 
‘B’ and ‘C’ and two service departments ‘D’ and ‘E’. 
The following figures are extracted from the 
records of the Company. 

       Rs. 

 Rent rates     5,000 

 Indirect wages    1,500 

 Depreciation of machinery  10,000 

 General lighting    600 

 Power     1,500 

 Sundries     10,000 
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 Following further details are available : 
Particulars Total A B C D E 

Floor space  
in square feet 

10,000 2,000 2,500 3,000 2,000 500 

Light points 60 10 20 20 10 5 

Direct wages (Rs.) 10,000 3,000 2,000 3,000 1,500 500 

H.P of machines 150 60 30 50 10 – 

Value of machinery 
(Rs.) 

2,50,000 60,000 80,000 1,00,000 5,000 5,000

 Apportion the cost to various departments on the 
most equitable basis by preparing a primary 
departmental distribution summary. 

 S©õº ¼ªöhm ‰ßÖ EØ£zv xøÓPøÍ²® 

•øÓ÷¯ A, B, C ©ØÖ® D, E GÝ® ÷\øÁ 

xøÓPøÍ²® øÁzxÒÍx. AÁºPÎß ö\»ÄPÎß 

ÂÁμ[PÒ Á¸©õÖ : 

       ¹. 

 ÁõhøP ©ØÖ® Á›PÒ   5,000 

 ©øÓ•P T¼    1,500 

 C¯¢vμ ÷u´©õÚ®   10,000 

 ö£õx JÎ ö\»ÄPÒ     600 

 \Uv      1,500 

 Cuμ ö\»ÄPÒ    10,000 
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 ©ØÓ ÂÁμ[PÒ : 

Â£μ® ö©õzu® A B C D E 

£Sv £μ¨¦  

(\xμ Ai°À) 

10,000 2,000 2,500 3,000 2,000 500 

ÂÍUSPÎß 

GsoUøP 

60 10 20 20 10 5 

÷|μi T¼ 10,000 3,000 2,000 3,000 1,500 500 

Svøμ \Uv 150 60 30 50 10 – 

C¯¢vμzvß  

©v¨¦ (¹.) 

2,50,000 60,000 80,000 1,00,000 5,000 5,000

 •ußø© xøÓ\õº¢u £Qº©õÚ £mi¯À ‰»® 

÷©Øö\»ÄPøÍ £Qº¢uÎUPÄ®. 

11. The following information relating to Contract 
No.123. 

       Rs. 

 Contract Price    6,00,000 

 Wages     1,64,000 

 General expenses   8,600 

 Raw materials    1,20,000 

 Plant      20,000 

 As on date, cash received was Rs 2,40,000 being 
80% of work certified. The value of materials 
remaining at site was Rs. 10,000. Depreciate plant 
by 10%. Prepare contract account showing profit to 
be credited to P and L a/c. 
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 J¨£¢u Gs 123–UPõÚ ÂÁμ[PÒ R÷Ç 

öPõkUP¨£mkÒÍx. 

       ¹. 

 J¨£¢u Âø»    6,00,000 

 T¼      1,64,000 

 ö£õxö\»ÄPÒ    8,600 

 ‰»¨ö£õ¸mPÒ    1,20,000 

 uÍÁõh[PÒ    20,000 

 ¹. 2,40,000 öμõUP® ö£ØÓx (80% £o 

\õßÓÎUP¨£mkÒÍx). £o ChzvÀ «u•ÒÍ 

ö£õ¸mPÎß ©v¨¦ ¹. 10,000. uÍÁõh[PÎß 

÷u´©õÚ® 10%. J¨£¢u PnUøP u¯õ›UPÄ®. 

÷©¾® C»õ£ |mh PnUQØS ©õØÓ ÷Ási¯ 

C»õ£zvøÚ PnUQkP. 

12. From the following information relating to  
X and Co ltd., you are required to find out : 

 (a) P/V Ratio 
 (b) BEP in rupees 
 (c) Profit 
 (d) Margin of safety 
 (e) Volume of sales to earn profit of Rs. 6,000. 

           Rs. 

  Total fixed costs    4,500 

  Total variable costs   7,500 

  Total sales   15,000. 
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 

 (A) C»õ£ AÍÄ ÂQu® 

 (B) --C»õ£ |mh©ØÓ {ø»¨¦ÒÎ (¹£õ°À) 

 (C) C»õ£® 

 (D) AvP£m\ £õxPõ¨¦ 

 (E) ¹. 6,000 »õ£® ÷Áskö©ÛÀ, ÷uøÁ¯õÚ 

ÂØ£øÚ BQ¯ÁØøÓ X & Co ltd., UPõP 

PnUQkP. 

      ¹. 

  ö©õzu {ø»aö\»ÄPÒ   4,500 

  ö©õzu ©õÖ® ö\»ÄPÒ   7,500 

  ö©õzu ÂØ£øÚ  15,000. 

––––––––––––– 


